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The solution set of the equation X3

()



عوض بقيمه X من الخيارات 


of the quetient of the division (X

I'he degrex

‘hll ]‘




Given that [ (x) = loga(x + 2), then /(2)




Question No. 10

Which of the following statements is always true.

of a quadratic function is a straight line

a quadratic function passes through the point (0, 0)
a quadratic function is the set of all real numbers

S of symmetry passes through thewertex



i L d
=&+ ais a factor of f too.
=& —ais a factor of f too.

| . [l +a) =0,
O



Question No. 6 il

’
V.

. Determine the domain of the productof f(x) and glx

H fx)= _‘T and g(x) =

2 e
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x € (—x;. —5) U (2, x)
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Lot f(x)

Question No. 18

@dia w0 9(2) = VIE— 7. Pind the domain of ?)@.
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Question No. 23

I'he solution set of the following equation: 2 - x| 3x -2
fo}
fos)
i

¢




Auestion Ne 04

) P 0 )b e (he Vet of the graphol /v
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Slas Lasass wu|dﬂ4qumﬁa46gb¢m@u@w

a2 +4a+4
a=-2


نعوض محل الاكس والواي بـ a ثم ننقل سالب 4 للطرف الثاني  وبعدها نختار مود 5—3  وبيطلع معانا الجواب سالب 2 يعني تلجواب هو D

a*2 + 4a +4 

a= -2


Question No. §
2 is parallel to the line 7 — ¥

Lot b€ R\[~1}. Give the value of b such that the fine y (6+2

b=t

m1=m2
b+2 = b*2
-b*2+b+2
Mode 5—3
B=2, B=-1

&eax Gsbess B sy Jlseadl (o8
[ 2,558 1- gacls @3aTl slacy!



m1=m2

b+2 = b*2

-b*2+b+2

Mode 5—3

B= 2 , B=-1

في السؤال يقول B تساوي جميع الاعداد الحقيقه ماعدى -1 فنختار 2


Question No. 21

1t x-4 1 a factor of the polynomial f{x)

() 4
f(-9=0
f#) =0

f(0) = 4

then



‘[ LL L

Question No. §
Solve-02<07-x= 14

no solution




Total quostions i ezam 26 | Anwored 16

Guestion No. 12

vl of o such that the quotient of dividing,

Letac R\[1}. Find the

Jlz) =2+ (1 A ya’e~1 by z-a W 2 7




| Question NU. &

| — — e N S L) L

Determine the solution set of the following inequalit;

4 —-x<—X
9 5= (—0—4)
= (—o0,)
s = (4,%)
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| Question No. 16

| Let a € R. Give the value of a such that the point (1,1) belongs to both lines az +a’y = 6 and o’z + 2y =11

©a=3
®a=1
g R o
e Slslls
a.l+a*2.1=6 a2.1+2.1=11
a2 +a-6=0 a*2 =9
Mode 5—3 a=-3 , +3

a=-3 ,a=2

C: el lall oty opillall (o o, S5 ol ol i

a= -3 2 Clsall


نعوض بالنقطين محل الاكس والواي 

a.1 + a*2 .1=6

a*2 + a-6 =0

Mode 5—3

a= -3 ,a=2

a*2 .1 + 2 . 1=11

a*2 =9

a = -3 , +3

نختار القيمه اللي تكررت في المعادلتين وهي الجواب الصحيح 

الجواب هو a= -3


Question No. 15

I- < 0D < .
1 G > I N G, S”]\—(\ rl](! i“(\

—T )

quality Z-a)(z-b)

2 (r—c) < 0, for T.
(_'\.11]
[2. 8] U (c. o) @Y sl le olpuaiall a8 a4
51 NG, D) a=3,b=5,c=9
12, o)
(~o0,a] Ut (X-3)(X-5) 1S dalal) il
94U 0, c) S o

(X-9)
Gl 63 Jall degani ¥ 90 oo siaal @alill 15 4a 0.2 g3lll el 1, 4 oots XJ 4ash Sl
o R e - sl s 1- sl b €1, 6 s X a5 53
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نفرض قيم للمتغيرات على النحو الاتي 

a =3 , b=5 , c=9

راح تصير المعادله كذا 

(X-3)(X-5)

(X-9)

الان نفرض قيمه لX وهي 6 راح يطلع الناتج -1 وذا الناتج اصغر من صفر فمجموعه الحل هنا تكون ✔️

نفرض قيمه لX وهي 4 راح يطلع الناتج 0.2 هل ذا الناتج اصغر من 0؟ لا فجموعه الحل ذي خاطئه 

الان نفرض قيمه لX وهي 10 راح يطلع الناتج 35 وذا العدد مو اصغر من الصفر فمجموعه الحل ذي خاطئه 

نفرض قيمه لX وهي 2 بيطلع الناتج -0.428 وذا العدد اصغر من صفر فالحل هنا صح 

فالحل هنا بيكون جميع الاعداد اللي اقل من a والاعداد اللي بين b و c فالجواب بيكون D 


o e e e e SRR

‘ Question No. 10 i
If 5 isazeroof f(x)= 2 — 8x2 + 11x + 20, then other Zeros are

P4 1
D 4.1
J 41
24 -1

Mode 5—4


Mode 5—4


3 g8t dasd Loyl
i+1 © GSY oo agais
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e 8 s L L5l alall e 358 ol Ll

a 5o olsadl


نفرض قيمه لـ a وهي 3 

ونعوض محل الاكس ب 1+i

الناتج بيطلع   

-4+i

نجرب بالخيارات ونشوف اي خيار يعطيني نفس الناتج اللي فوق مع العلم اننا عوضنا ب a بس 

الجواب هو a 


Question No. 11

e
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Answered: o
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0 52 G 0 Ul clilaay 23 ad) pase 5 1- @ sSY s
10 s U 0 il elilas.


عوض الاكس ب -1 وعوض الa بعدد يعطيك الناتج 0 اللي هو 10 


Total questions in exam: 25 | Answe

Question No. 17

Find the axis of symmetry of y = 2(x —5)2+ 3







Question No. 22

P

Write the equation of this parabola in vertex form.

(TIITII
o

R .

y=2(x+3)*+2

y=(x—-3)32-2
y=2(x+3)*—
2(x—3)*—

2

2



" f(x)
a factor ol f(
nNo. t’\“(‘“’lnp- s a ‘dt1(
Ouestd ° e of the f0 :

) _then (
cx— 12,9
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Al questions in €xam: 25 | Answer, a0
wereg

Question No. 1

Y€ the inequality




1% 0 polynomial such that f(2)

2) equal




Total quostvons i exam 28 | Answored 11

Question No_ 28

It f(x) is apolynominl such that the remainder of the division f(x) + (x 1)

equals 6 then
* f(~1)=~6
/(6) 1

J(1) =6
f(6) ~ 1
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otalquestions in exam 28 | Arswered 11

Question No. 24
(z—h)*+k increases and decreases are

Let a > 0. The intervals on which the function f(z) =a

@ Increasing on (—oo,—h), decreasing on [k, 00)

@ [Increasing ou(—o0, k), decreasing on (k, c0)
@ [ncreasing on [k, 0o), decreasing on (—oo, |

@ [Increasing on (—o0, ), decreasing on (—oo, k)




Question No. 25
IT%-2 is a factor of the polynomial fix) ther

-
(o)
Il
N

f2)=0
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Total questions in exam: 25 | Answered: 0

Question No. 16

Which of the following functions is 1

F={(3.5), (6,0, (7.-2) (1.-5)}
F={(4-3)

{(-3,-2),(0.4). 32) (1.5

F={(6.-3), (0!5), (4.-2) (1 .2







fotal questions in exam: 25 | Answered: 0

Question No. 20

he solutionset of the following e

quation:| x-2




s mexam 28 | Answered: 0

Question

¥ + a is zero then

mainder of the division of f(x) by

factor of the polynomial f(x)
r of the polynomial f(x)
1s a factor of the polynomial f(x)

@ isa factor of the polynomial f(x)










Save & Next iy L




_atisafactor o A polyporm

ial funetion f(x) then
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Question No. g

1§

Jx+3 and g(x)=x-4 I)‘At"”“”l(‘”X(‘dum‘”no“/,
\ - R 1\
€ |3, 4]
(—ox i) (4, o)
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| Question No. 25

Lot b € R\{}}. Give the value of b such that the line ¥ = (4 — 5)z + 2 is perpendicular to the line bx — y = 3.

@p=-3
| @b=3
@p=2
@p=1

M1=4b-5 M2=-b M2=Db

M1 . M2 =-1 -1
(4b-5) . b = -1
4b*2 -5b = -1

4b*2 -5b +1 =0
] ) Mode 5-3 | —

b=1,b=1/4

slaedl guan sl b Jods Jlseadls LT =TT
B=1 (1S 0loalli 1/4 guels Ballin oo e ) R R )
el oo |7 )0 ] ) )
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M1 = 4b -5

M2= -b

-1

M2 = b

M1 . M2 =-1 

(4b-5) . b = -1

4b*2 -5b = -1

4b*2 -5b +1 =0

Mode 5—3

b = 1 , b = 1/4

فالسؤال يقول b تساوي جميع الاعداد الحقيقه ماعدى 1/4 فالجواب يكون b=1 


T otal QUESTIONS I @xm 25 | Amsweved Y

Question No_ 2

If f(a r— 3=+ 1 ¢ and the remainder of : ) iw 6, then f(x) is equal to

F(-2) =6
- EENIE e s
[3<a adbass @ilall
5+4c=6
C=1
C olsall by cpn ) elds o3



F(-2) =6

نعوض ب -2 بالمعادله 

الناتج بيطلع هكذا 

5 + c = 6 

C= 1

ثم نفك المربعين وبيطلع الجواب C


Question No_ §

The Solntion setof |7y 8] +8< 1 S

Gllal ] 4ol
S Ty e
b sae (ye


القيمه المطلقه مستحيل تكون اقل من عدد سالب فالجواب فاي B


F (x) = 2x*2 + ax - a*2

oy & Al (g se a dls2- @ X Gase
elia bl J) 5l 45Y g =2 2aul 0 80 0 5S
i



الجواب a = -4

عوض X ب -2 وال a عوضها من الخيارات بحيث يكون الناتج 0 استبعد a=2 لانه بالسؤال طلب منك تستبعدها 

F (x) = 2 x*2 + ax - a*2 


Queaten No I

» compound tooquality

Jute value pogquality &

Rewrite this absol
TERL
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| Total questions in Exam: 25 | Answered: o

Question No. 7

The domain and the range of f(x) = 2xis
i
all real numbers
all negative real numbers
all positive real numbers

all non-zero real numbers (X




y{the followir g equation

ution set¢




*¥tdl Questions jn €xam: 25 [ Answereg -

Question No. g

The Solution se

SOf 2174 o
[~4,8]

(—oo 8]{)[,4If,,)

/]

( 0, oo




Question No. 12

The function f(x) = 3x+x2 —6is

Linear
Cubic
Quartic

Quadratic







\‘ Question No. 7

| It x+a Is a factor of the polynomial f(x) then

@ fla) a
@ f(-a)#0
® f(a)=0

f(—a)=0

viath

il




|

neremam(lerofthedivision (*+x3 4+ x2 494 D+ ((x—1) is
Q4
\95
| ® 2

@3




If f(x) isa polynomial such that the remainder of the division f(x) + (x +4)
equals 10 then

® f-9=10

©® f@=10
© £(10) =4
£(10) = — 4



Question No. 12

L%

The desree of the quotient of the division (x®— 4x® +x + 9)= (x— 3) equals:




[ Total questions in exam: 25 | Answered:

Question No. 10 ‘ W

fthe line 3y - x =0

C— Scientific Calculator

B e TN

e




Question No. 15

| Given that f(X) &

ax-1 4 1, Then f@y=

Save & Next A3, ke

} 4
| Scientific Calculator

\@@mgm

S
0 T D
Gl
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Question No. &

Solve |x - 4| <7










| Deterin

e lbcso!nhonsc( of the following mequality
i' 1- 3x
, 31:<——»--§xf8
2
O (3. 8
< 13.1)
Oy

L X 1y Q













Let fiz) = 2* + « and gi2) = %, gve the wloe of ¢ sk that flr + 1) = 2piz) + 2¢

Qo0
@y
Qcea
e

C=-1




) & N N - et
Cueston N¢ 3
Thedomainofherelationy < x - 1 &

¢ 4=)
Y [-4=)
¥ (-, x)

@ [0,)

agiall 2120 Y ppaa Lol 058 kil
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® (1,3)

Y B,®) U (-2,-1)
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The solutionsetof (x + 2V =3 is

. Containing non real solutions
® (324)

Y 228y

" (18










Total questions in exam 25 | Answered” 10

Question No. 2>

Which of the following represent x < —5o0rx > 1







\WNO.‘I‘I

YWtie the equation of Ine Iine passes through (-56) and prependic ular 10 the ine x
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Question No 14

Let o € R If the solution set of the inoquality [4x — 8]+ a > 0 is (—00, 2) U(2, 4o0) then

S a=0
@ an
v a=2
Vas=-







e
"




Queston No &
Gaven The eQuation &x - 10y » 20 Wrte the Ine eguation i the siope niercept torm
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Question No. 21

3
| lmmpoﬂhudnbnyf;_—;h

9 (~o,m)
¥ [0,m)
9 (~,0)u (0,m)

” l-lom)




Find the domain of f(2) = A
v' ]

*an
- 1_1‘
¥ {—= v x)
@ (~o, -AUR x)






Question No. 20

The solutionset of the following cquaiion:l x=3 |=2x+1 jg

Scanned by CamScanner


iPad

iPad
بالحاسبة جربو الخياري مكان الإكس لازم الطرفين يساوو بعض


Question No. 24

Giventhat f(x) = 61° + x° + 5v — 12, then one of the following s a factorof f(x)

O x-2
X+

X-1

X-1=0
X=1

daly Cangas gudse

dolalls uS) S 8

IS hee aSabaaan

szsLSLé\_\.’_‘
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X-1=0
X=1
عوضو بموجب واحد مكان كل إكس بالمعادلة وحيعطيكم صفر كذا يعني فاكتور


Question No. 25

If p(x)=x+3 and ¢(x)=Jx-4 . Evaluate (p-¢)(1).

-12

—

*y
“%J)

-

-
w %
. =

undefined

S slants decalally Lashas U
il s puiy anls S
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لما تحطوها بالحاسبة وتحطو مكان الاكس واحد وتضربو الجذرين ببعض حيجيكم ERROR
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\Which of Ir_m fﬁhwlng functions 15 one-lo-one

O Fz((35).(6.0), (3-2), (1.5))
O F=((-2.-2). (0.4). (3.-2). (1.-5))
O F={(4.-3).(1,0).(5.-2), (1,-3))
@ F=((-3-3),(0.0). (4.-2).(1.-5) }
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Guestion No_ 9
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P . i. I~
I'he value of a that makes the graphs of f(x) a

201 + 4 and g(r) = r?
— i J(.r = —7* 4.9 )
hawve rIN‘ SUne vertex is ) } T AT + Za,

-
a1
8. -2
i | (1]
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Question No. 13

function 1) is constant on an intenva] 7 if forx,,x, €7
1,1 €1,

O -ifrl < Xuthen f(x,) < f(xy),
¢ ?l‘x, ¥ Xa.then f(x,) = f(x,),
C ifx, > X;,then i e ry B f(x,),

_ if.t,{.\,_.thmf(ml)}f(nld
ST U GBI s
P
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حتكون الدالة ثابته لما الإكس يكون مختلف وقيمة الواي نفسها


| Question No. 26

' Find the domain of f(x) = 7&—3 |

@ [-3,3).
2 (~00, -3) U (3, ooy ‘
9 (~00, -3 U (3, o).

Y (-3.3).

X =z 3ol XL =5
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x² -(a+b)x+ab=0
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اضربو ووحدو مقامات

Sum = + يعني تجمعهم وينحل بالحاسبه 
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Question No. 11

The vertex of the graphof f(x) = —2x* + 4x — 1 is
(1.1)
(Z2.~1)
(Q.~1)
(Gl PET )
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Question No. 14

If f(x) is a polynomial such that f(1) = 6
f(x)=(x—-1) equals:

then the remainder of the division






Question No. 12

The function f(x) 2x% + 4x + 1 1s equivalent 10

f(x)=2(x— 1)+ 3
flx) =2(x 1) 3
f(x) =—2(x+ 1)+ 3
fCx) =2(x— 1)+ 3
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| Question No. 5

' The equationofthe given lipe.is

) 81
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Question No. 13

The quotient of the division (5x? — 6x* — 28x — 2) + (x + 2) is

® 5x* —16x+4
5x?% + 16x
5x% —16x — 4
5x% — 16x








































Question No. s

BAx)— /x5

2 andg(x)=3x— 5
(1. o)

(—-)- > )

2. o)

[1. =)






f plx)=d and ¢ s . Compute the oroduct Hix)={PgAt)
H{x
Hix)
r .
) )
Hix N
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Question No. 19

Solvel < 7—x < 10

{-3.6)
(-6 3)
(3 6)

(- -3)






Question No. 6

the TOHOWING 1S a vertical Iine






Question No. 10

Which is the equation for this graph”

VvV = —X — 4

V = —x* + 2x + 4

Y = —x* — 2x !

1:&:—?;-—'7}
) 2





Question No. 12

The vertex of the Quadratic function f{x) = 2x* — 3x + 1 is

° (-3
(-3
G.D
(:-9)






i
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Question No. 12

Therange of f(x) — 4 — x" 18

(-==.4)
(4.°=)
i—:':__l]






2Stion No. 1

1e domainof f(x)=+/2x—1 is

(—o0, 00)

(0.5, 20)

Save & Next il ks
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Question No. 13

The remainder of the division ( x% 4 2 y? xt + 1) =+ (a 1) is

N






Question No. 15

The quotient of the division % is:
® 2aascy 14
© x* +4x+ 13
@ x24+4x+16
® x?24+4x4+ 15
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Question No. 22

The solution set of the following equation: | x—1 | [3

X 2' 18
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Question No. 20

Solve x“ 4 3x 4 <0

@ (14
© (—4,1)
@ (~<0,—-1) U (4,0)
' (—w,—4) U (1, =)
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Question No. 15

x?—5

The quotient of the division A
s (o

o it e 2l My
x% +3x4+ 6
> il Sy Gyl Wl

- 348

1S:

Mibine ;",...‘_,,...,1:,,-uqq.—pgg',.?om,b',&,um‘mr.u:q_r'hiim" i frg mﬂﬂmﬂ











Question No. 19

The solutionsetof —5 < 3x — 2 < 1 1s

) (1,0)
[—1,1]
(—o,1]
[—1,0)
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Question No. 8

If p(x)=+x+3 and ¢(x)=+x-4. Evaluate (p-g)5).

-

319

L 4

undefined






| Question No. 24
- which or the rolowing functions iIs not one to one

@ F(x) =3x
@ F(x)=—"5x
@ f(x)=—9x"
@ f)=+5x

. Save & Next 1ils s




" Py

BEST answer from the gwen options

1 1{(x) has an inverse function and f(-2)=11, then
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Question No. 4
Give the x-intercept of the line y =6x - 12
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Question No. 22

The solution set of the following equation: | x* —1 [=0 js
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| Question No. 21

l

The solution set of the following equation: | 7+3x [+9=5 is

4 |
| a2 i i L d - = “

s, it il

¢

4.7}
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Question No. 7

Find 2f(x) - 3g(x), where f(x) =x2+2x—1 and g(x)=2x—4

2x*—2x+10
—3x%—2x—7
2x*—2x — 14
—3x%-2x—1
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Question No. 10

What is the equation of the quadmatic function y = x? 4+ 24x + 29 in

© y=(x+12)2—-173
@ y=(=x+ 12)?— 115
@ y=(x—12)2—173
@ y=(x—12)2—115

save & Next A3, e





Question No. 24

Which of the following functions is not one o gne

f(x)=—5x+5
J(x)=80+106x
Fx) =13x

j ( 1) — _‘."". £ 7_\_:

(\
\po o/

MET WA

e 8:33 4l 28.11.17
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Question No. 17

Giventhat f(x) = 5x* + x2 + x + 5 , then one of the following is a factor of

@ X +2
@ xX-2
Q X+ 1

QD X-1

Save & Next A3, L






Question No. 16 [}

If x-4 is a factor of the palynomial f(x) then

f(4)=0
f(O) =—4
FQO) =4

f(—4) =0






— O —

Question No. 6

Find the slope of the line 3x — V3y =2

3
Undefined.

@

@
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Question No. 20

Solve x“ 4 3x 4 <0

@ (14
© (—4,1)
@ (~<0,—-1) U (4,0)
' (—w,—4) U (1, =)

HP LE1901w
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Question No. 17

If S isazeroof f(x) = x® —8x% + 11x + 20. then other zeros a

4 .1
8. -1
4.1
. -1
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Question No. 16

If x+a 1s a factor of the polynomial f(x) then

f(—a) =0
f(a) =0
f(—a) =0

f(a) = —a






5;1"1/ T o
. - &






Question No. 2
If /(x) V2 then fix)1s

@ constant
) Increasing
) decreasing

~—

) not defined

Save & Nextwﬂ,kh A








Question No. 6

The siope of the vertical line that passes through the point

N

undefined

-










Question No. 18

Solve —4x+ 3 > —9
(_3100)
[3,00)

- (—CI), 3)
(—oo, 3]
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Question No. 1

i £(¥) = —— 7 then S(-D=

sl 5, o |

© & NP &R
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m lo. 11
wm he equl\\on of the line passes through (-5 6), and prependicu






Question No. 2

wWhich of the Tollowing is not a function?
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Question No. 3

The function in the given figure is

.
X

increasing on the interval [0,5]
increasing on the interval [—9, 16]

constant on the interval [0, 10]

decreasingon [—5, 15]
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Question No. 15

s
= = S x=—7 ,
The quotient of the division = 1S:
—

= 213
x*+2x+5
x* +2x+ 4

=+ 2x + 2

-





usstion NO. 6

Vrite an equanon

L
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Question No. 3

lhe range of f(x)=—x" is

T mo= E aiEs

u
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Question No. 8

IF p(e)=JesT and g(v) - ¥ Ty Evaluate (g ) 1),

.
undefined
.\"
\.‘
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Question No. 3

Identify the intervals where this function is decreasing.
1

.
2
-

N
ﬁllllll[.L\nA 57

o\onill P 2 NA Y e
—

( o,
(3,0)v (~2,—1)

(—1,1)
(1,.3)






Question No. 11

The axis of the graphof f(x) = x

1
X = —
>
<o

<

—x + 1 is






Question No. 14

If f(x) isa polynomial such that the remamnder of the division f(x) + (x + 4)
equals 10 then

f(10) = 4
f(4) =10
f(10) = —4
FJ{—4) = 10






Question No. 3

The domain of (%) = 1S

(—20, 1 ) (1, <0)






Question No. 2

If f(x)=x+2x>—1then f(a*)=

a’ +2a —l1






Question No. 1

irf f(x) x° —1 then f(a

\d 2N a \ 37 4 -;)
2" a 3ca+3)
(a — 2N a a—+1)

" ) - 3 -
L 2 Nd 7 1 3)
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Question No. 2

The function f{x) is d

if x4
if x4

if x4

if x,

x,,then f(xy) = f(x2),
x,,then f(xy) = f(x2),
x5, then f(xy) < f(x2),
x,,then f(x;y) = f(x2),

ecreasing on an interval 7 if for xy, Xz € ' 40





A

Math Quiz2_Semi_<

Question No. J

Identify the intervals where this function is increasing,
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Question No. 7
2

Find f(x) + g(x) and its domain, where f(x)=4x +7 and g(x) = 5x

20x? + 35x;domain (o0, )

4x+7_d : :
c.a »domain (—o0, o0)

X7 O
5

4x + 7 +

x?:domain (—oo, o0)

x?; domain (—oo, o0)
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Question No. 1
The domain of f( x)=x" —2x+1 ijs

4.2
(—=c.8)
(0,0)

(—o0,0)
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Question No. 3

The range of f(x)= x* —49 is

|—49, =c)
(-7, 7)

(—x a0 )
-7, =)
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Oweition No 4

The solation set of the following equation










Question No. 18

If f()=2¢"+3 and g(» _ Jx+1, then the domain of (/zXx) 18

O [-1,)
© [-0,0]
- (09)

(—oo, )
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Question No. 11

The solution set of the following equation: [2x+5 |= |x+ 4] is

{1,3}
3.1

B.-1}

¢













Question No. 2

Write x <-4 orx> 4 in interval notation

‘ @D (_w’ _4] U (4~ 00)

) (8, —4) U[4, =)
~4.4)




>
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‘'
- R
O
m
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Question No. 10

memmmmsm(w"’”r?
4

16 is
(- (n’(l))

)

(

~00 - 4()] U [840 CX))
(

'Vh-84]U[463b)
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Cuestion No. 19




T —§—

Question No. 11

\Write the equation of the lineé passes through (-5,6), and prependicular to the line x = -2

X = -5
| BX + 6y = -2




’ Question No. 15
!

Identify the vertex and the y-intercept of the graph of the function y=3(x+2)*-5

. © vertex:(2,5); y-intercept: 12
O vertex: (2,-5); y-intercept: 7
© vertex:(-2,5); y-intercept: -1
O vertex:(-2,-5); y-intercept; 7

&




Question No. 5

The Solution set of —|4x 4 2| =6 is

(o0, +o0)
(-2,1)
0

(—o0, —-2]U [1, )






——
I.



Question No. 25

s/
- ) yx—3 .
Theinverseof f(x)=——— 18

[l =(2x+5)
1

f(x)==(2x+5)
S

£(x)=3(2x +5)

£(x)=(2x+5)

HP Compaq LEI711







f WUESUIV NV, &
Find the slope of the line through the poinis (-4,8).(2.-3)

&




Question No. 14

If fix) = Jz+2 andg(®)= 3x— 5. FindA(x) = (g° N

II(I) - 3\(1_—'1

hix)= 3dx+2-5

h(x) = \3x- 3
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/ Question No. 4

!
. The solutionset ofthe following equation: ! 16—35x |=2=3 &

{i §}
5°5

il

T 47

frra)

[is Tite




\ |
| |
|

H' ‘ M\
\

REENEL
[-05.0)




Sl

ik
Wi 8 Wt A
gl

L]

- b=t )
_ s PN "3 12 ‘c u: l}' A =,m
- e il I [ﬂ:l




e,y

3 ' Question No. 10

Give the y-intercept of the line 3y-x=p
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- Question No. 3



q
| @ not defined

Ol
i)
&1



Question No. 12

Find [(t)~~g(t),if/(r);:_;

4

| 8x%-5x+4

4x
8x~5




Dctcmnnc the solution sct of the foHuwmu e

juality
1<-442,. 10
9 sun
O s
Vs

W 5= 7




I Question No. 23

The doman of the nverse arF = { (-

@ D=(-514 -1)

@ D=3 0 4 12)

® D=(53, 1, 0)
D={20 12 3)

Nee: g
%Ez‘liﬁi i 4‘

5.2), (10), (4,12), ¢ 1.3)) 1s
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The siopes of two parallel lines are

@ 0
) equal
) different
' undefined
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Question No. 16

The function f(x) = x> +6x+ 818 equivalent t0

@ fix)=(x1+3)—-1

P - x=3) 1
flo)=0(—3)+1
) 11 3 1




The solutionset of the following equation: 2 —’10-" ke \ﬁ] =3 js

|| ® (>
*5

© {9}

&




Find the equation of the line with slope
Options:

OY=-4x-2
C-4x—2y-0
O2y=_4

-2 and y-intercept —4.




INSTRUCTION: clads Please choose the BEST answer from the given options for

Question:
which of the following functions is not one to one
&

Options:

OF= { (41—3)1 (110)1 (51_2)1 (113) }
W= { (35) (6.0). (i) (1,:5)
®F={ (6,-3), (0,5), (a7}, i il
Wt (3-9) (0432 (1,-8)3
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R Fadis i srasgirind :-rf.r;;;-_.,_a_‘_a:r{a'?aim e
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Math_Qz3_5ec5.4_2014-15 e - - .

Il'l&l"lium'mn i Please choose the BEST answel

The vertex of the graph of f(x) = —2x2 + 4x — 1 is
Options:

© (01'1)
©(-1,-7)
© (21'1)
®(1,1)










The Solution setof 2|y - 7)< -28 is

. (~os, ~7)u [21,m)
0 2
¢ st

¥} (-c,u)




Question:

K p(x)=x+3 and ¢(x)=+x-4 . Determine the domain of (p-q) (x).

Options:
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Question No. 7

The Solution set of ?131 +3]-1

>1 s
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Question No. 26

Which of the following functions is not one-to-one

|
| ® flx)=-2x45

© fn)=x
© rly=E1-x>

© f(x)=8+16x









Question No. 16

The slope of the vertical line is

-1
0

Undefined
1



P

Question No. 12

If a = b and c is a real number

© at+c>=b+c
-7 a+CZb+C

< atc<b+c
O atc<b+c
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Question No. 20

The axis of the graph of f(x) = x* —x + 1 is

<
Il
r)l

N |-

|
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' Question No. 14

Thedomainof f (x) =4y is

> (0,%0)
R\ {4)

(-—OC, T")

[0, =0)

. B LA SRS SV
Tty e
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ety
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Question No. 12

s
!

({11
{

li Solve this quadratic inequality

x?+5x—24<
|
¥ (=%,-3) U (8, )
9 (-»,-8)U (3, o)
@ (-3,8)

O [-8,3]




|
|
|

&

| @
@)

Q

)

Rewrite this absolute valye inequality as a compoundin
11+ 4x] < 23

-~

Question No. 13

-23> 11 + 4% < 23
-23 > 11 + 4x > 23
-23 < 11 +4x > 23
-23 <11 +4x < 23

equality



Question No. 24

If x+1 is a factor of the polynomial f(x) then

) f(0) =1
@ (1) =0
R0

» f(0) = -1
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Questlon No 21

Trrdaitadl

The interval where the Braphiof f(x) = x2 + 2x — 3 decreases is

[ |Cl [_1'00)
l: @ (_oo'oo)
LD (-=,-1]

© [3.%)
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Question No. 26

Let f(x) be a one-to-one function, then g(x) is the inverse function of f(x) if

§ © (Jog)(x) = x only
1 © (fog)(x) # x and (gof )(x) # x
I

© (fog)(x) = x and (gof )(x) = x
D (Jog)(x) #x only




Question No 22

The remamder of the dis

son (x* 4+ 724 r+1) (x4 1)




Question No. 18

Find 1(x)- a(x) , where I(X)=4x-9,g(x)=7x-3

1(")3x+6
’U -3x -6
| @ 11x-12

@ -3x-12




" Question No. 25

— - - - - -

~ Afunction is one-to-one if
ey,

Ary horizontal line Interseclts the graph alNnost once
 every vertical ine Intersects the graph twice

O every vertical ine intersects the graph at most orge
O every horizontal line Intersects the graph twice

-
-




Question No. 15
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| The solution of the exponential equation ( )
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Question No. 30
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Ouestion:
.l (x i 1) is o factor of lhe polynomial f(x) then

m(o)
Of(1)- o
ON(0)« 1

) \{” ,}) 0o )z/ ¢ L




r‘o ' '.'.oow i ‘ o...‘mw : l P

’ . ‘.' .., . 3 " . ‘ .
- s ! v ) 5 Y ) '
Question NO.. 29 .\ h o i e i
» ‘..' 4 ¢ '- 3 "‘. s '
. ‘l " ’ ) ' -‘..' w . s & . ..
...—..“‘m.-“w‘“'.’ ' ' ‘ ’ ) s ' '~'
: ' ...‘ ... \o} "\ ‘...‘ ' " 2 .
’ - .l.. ) .\-" R . » ’ ) ‘.
' : L s ' ,
’ ’ : : . ° \\ s ® A v . ’ . s
) ’ . ) '. ’ . . "0' ..‘ . N.
.s . " » s " _ ) .
‘ , ~'.,\ ..‘ L} x . ' % . . : ‘.\-'
. . : n.. ) | : . ' ‘_ y .‘ TR
h a2l TPy TR X . -
- = : \ r \ \ ' <
- ' — " ' . : '
0 x . m 5 S g '\ > p . .‘
' ' . y s N %S o..
" » ...' .,. ’ ...' .2 " " . " " '. . . “ -
» : . " .“ . .," . ,‘ “ . ‘. '  ° \ : ".
' ... .i ." .'l" o'. ' ' s ¥ ..“ . KT \ ) "' g *° 5 y
- . . 5 * y L .
» -... .‘ '. . '..\‘ '.|.‘.. . \’\“. . ’ ° : ¥ .
" . N ’ . . - | . ‘t : .
: s 4 s ..‘ ‘\ . . . s " \\~ . 5 . ‘.‘ 5
. - g : : . S ..‘ ' . g " p ¢ T & ' .‘- u'. 5 :
‘ (.. C . . 0.. .0".' ' , " ¢ ‘s'.~. ) -'|. ' ." “" ' s
) ’ ) ) : s & : . ’ . a & * y "
’ - " 3 : s ¥ . .l.‘ . \..‘ .‘.' " '-..‘ v s .
. . .‘.‘. .. \.‘ ’ . . ’ 4 ' Ny : s .
’ , . - '... ‘\ 4 o ..' “» .'.'. . ’ 5 - . .
- ' . g * . ' 5 B ® . . ) * . . . ' . ' S
.‘ ° ‘.' 2% RN ..\ 2 ! . . : N A . ’ ,'
i D DECTEBSIG -1t LA AT )
' p . s S AN BN BES X . ‘ y .
' L o‘ ® . v . y . Y
. . . ‘ ) 5 . . l. .
) 5 -‘ \ \‘ L . l. » ) .
. A .’. : ..-‘. I b % - )
) . . . g ® _ s ! : ’ . A ) l
’ » ‘- " & ) " | g ¥ . s " :
y . s Y R A L . s 9 "‘ " s ! ! .
Increasin % ARARATEREARTRL A AR, ‘
) % ‘ ' ' 3 % 0 . . \ " y " "
. _ \ . ‘\ » . _
' “ . .‘ . " 5 " _
s \ L\ . ' " ' .
- - " . '.o~. . - . y _ A -
;' Decrea AR R T
, 4 NCFEASING .-\ A
' . : 5 ‘ . ‘. ¢ . 1 - .l
‘ . . s 9 5 ._ . . » . &
ol . * 2 . ) _ s ! " !
\\ " ’ . . ’ . .u »
A . . * . '
‘ . ) . . .l. . ‘0 ’
) . > \\ .\ \‘ . ) . .
. 5 n. . L
L » N . '.
. \‘ - »
) . . .‘ .
) 5 5 -
| \ . |
) . 5 L 5 ’ .
o\ '
5 ‘. .
|
I. 5 |
r ‘ . | :
! . ' :
»
-
:
! \
" .
5 .
‘ )



Question No. 30

R — . oy & &

- The solution of the exponential equation ( ) =64 is

P x=t
e s ¢ E

.
1 =,
@ 2
c———,
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Question No. 15

T —— —

L 0..‘.“.’““..

~ constant on the interval [5,15]

%weasing on[-5,0]u[10,1 5]

' decreasing on the interval [—9,16]
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Question No. 23

e e— o —— —

If -2 is a factor of the polynomial f{x) then
oI

O f(-2)=0

V@ -=o0
O £(0) =2 R
p—
O £(0)=—2
K ‘
\




Question No. 20

The range of the function /(x) v 4+ 1is
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Question No. 26

————

- — e —— o ———

- Let f(x) be a one-to-one function, then g(x) is the inverse function of f(x) if

O (Jog)(x) = x only

O (fog)(x) # x and (gof )x) # x

| A0og)(x) = x and (gof Jx) = x
O (fog)(9) % x only







Question No. 18

The function f(x) = 2(x — 3)? — 3 can be written as

O f(x)=2x-121 46
Y f(x) = 2x* - 12x - 2]
T(x) = 2x* - 12x + 15
Y f(x)=2x°-6x + 15

-'P ('v.\ - 2(«:\..{ x {ﬂ\ —;

- Qal |'2.-&+\7 e ?
= AW AR 4 \S
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| Question No. 28

The range of the function f(x) = —2%¥*1 g
x-/(-oo.O)

9 (0,00)
(~2, )
(2, 0)
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- Question No. 11
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Question No. 19

Which is the equation for this graph? O |
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Question No. 17

—

|
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Question No, 22

| — e - - — - L —

If ‘@’ is a real number then the remainder of the division
(x*+ax® +x+3)+ (x-1)is:

(a‘s

- a+4

() a+*2
v a+3

a0

| (+a 2+ q

| [+ 2% {S"'a
R EmaA hJW -




Question No. 14

RS OO G———

- --m-m"ﬁ-

The domain of f:(x) =w4X i3 4

O (0,)
¥

“ R \ {4}
) (-w.w)

“ [0,x)
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N—

¥

Solve thlS quadratlc mequahtyx —812= 0 . :

bm-aUP®) gl

& 9<x<9
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Question No. 21

' ! ' )
-y rerens ey




Question No. 12

Give the slope of the line 4y . gy 4 28 =0
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Queston:

A
Theinverseof fx)e s

Uphions:

) = (s S
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Question No. 18

— .

——-y

Find 72_8 and its domain , where f(x) =3x—6,g9(x)=x—2

O 1; all real numbers
() 3. all real numbers

@73 all real numbers exceptx = 2 3

) -3: all real numbers except x = 3
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| Question No. 10

O (—2,00)
) (-3, o)
0 (-3,-2)

(-2,2)

@

‘05",‘2"

......

...........



Question No. 17 \ Je
Y o . d

Which graph represents this function?

RECVER A
ot g
st

o

o M
N \Y
O

Save & Next i, ke

The S'OE of a linear function is 3 and its y-intercepts is —2.
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Question No. 28

’ L I e —

t The range of the function f(x) = 5% is

O (5,)
t/(O, )
0 (—o0, c0)

& [4: (X))



’ Questlonrgo. 9

e ——

ITT(x) = Sx\thenj(x) s

- -
—— C—
-

O Not deﬁnéd\\
lncreasmg "

O Constant

| 0 Decreasing

2%

W
i ~
- n
l' "." :{...l ~"’ .
,'.'(»- w! .::.,"‘ -'!""'“ 1) .
',,,a.* " "
’ o

Ly
"
-
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| Question No. 16

‘ e e A — | — —

| The slope of the line x= -3 is
[ o~ e SN

|

|

|

| O -1

£ Undefined
W 1
w0




INSTRUCTION.

N, e Please choose the REST answer from the grven optons for exch question

Question:

Find the equation of the lin¢ with slope

Optigns:
\/ 2
y+4d=
i 5

m= =~ and passes through the point Py=(2,-4).




| Question No. 26

o ——

~ Let f be the one-to-one fiunction defined by this set of ordered pairs {(-3,2), (4,5).(7,4),(10,19)}.

- y—‘(s)- —

JJ

-—

- * .
~

Vs ]t oy
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Question No. 8

T S ————

-~———— ———

- The solution set of the equation é(?,x} 5)= —2-is

om







Question No. 18

If Ax)= ;{-—2- and g(x) = ;:s-.l"iml(hcquoticmd S (x) and g(r). : '

/l Jx +15
Hek~

. ( [ 4x-2
{- (X) = o
K J Jx o




Question No. 18

If f(x) = i and g(x) = x + 2, what is g(f (4))?

R RIBC
| + 9 _ i
- Y

"










Question No. 19

Find the domain and the range of the function f(x) -~ (x + 8)7 - 7

o Doman (.8 =) range (.= =)
™ Oomamn (.= =) tange | 7 =)
Doman (.= =) 1ange (.8 =)
Domam (.7 ~jtange (.= =] ,
\/ ev t E )(

(-3, -2
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' Question No, 25
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A function £ (x) is one-to-ope f |
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Question No. 28

S LI — Eanad i S NE . C—

| Which of the following functions is one-to-one

e T,

.

0 iy 12 -
‘ : f(‘() =—2Xx"+35 b\ ,J
| 1':) p)
o (x) =16-x .
¥ f(x) = 2x+5 i

L) f(.t) . 5.\.2 __l /

o

)

H

A\
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- Question No. 10

|
:
|
|

O (o0, —1]
O (0, @)
= (—,0]
O [-1, »)

~ Theranpe of f(x) =~

1S




Question No. 3

| ' IS

If a>b and c is a real number, then

/0




Question No. 13

A .- - —— - e .

| The Solution set of |4 + 8x| > —20 1s

‘ Y (=0, -3)u (2,0)
(o0, o0)

© @20

'. O Q



Question No. 17

Wirite the equation of the line Passes through (-5,6), and prépendicular to the line x = -2

; O -5x+6y=-2
| O x=-5

¢0’y=6

O S5x+6y=2




